


Problem 2 (6 pts)
(a) [2 pts] Check all that apply. A blackbody (or black surface)

O has areflectivity equal to one

bsorbs 100% of all incident radiation on it
O will emit the same amount of radiation at all wavelengths
M will emit the same amount of radiation at all temperatures

s also an opaque surface

(b) [2 pts] A certain blackbody emits more radiation at a wavelength of 2.899 tm than at any other wavelength.
What is the temperature of the blackbody?
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(c} [2 pts] A gray, diffuse surface at Ts = 1000 K has an emissive power of 12,853 W/m2. Find the total emissivity
of the surface g

Problem 3 [5 pts]

For each radiation term in the left-hand column pick the best description from the right-hand column. (Note that
not all terms in the right-hand column will be used.)

missive power Independent of direction
sray Independent of wavelength

The part of the electromagnetic spectrum
rradiation

emitted by a surface due to its temperature
Over all directions

Per unit wavelength at a specific wavelength
pectral _ at a specific wavelength

Rate of radiation heat transfer emitted by a
surface per unit area

G. Rate of radiation heat transfer incident on a
surface per unit area

hermal radiation
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